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samsrafliureTiLb 2 Langurss 0gfeiésalb.

Be0LD SDOE! SHLIL] erulenar i GG erpgleusHEL LwealHSS
Cagm@b. ULRGE c@rasnELD, <l3.5C8 T HausHESWD
Quendled LweTL(HSSELD.

Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy : UGS -I (2@ f-graralwed), UGS-II (2 udfl-efoomdwd) salssal
afen_sarafley aflenwelésa.
Candidate should answer Part-I (Bio-Botany) & Part-1I (Bio-Zoology) in separate

Note :

GolLY :

Note :

answer-books.

(i)

(i)
(i)

UGS - I (2_u9f-greureiwev) / PART - I (BIO-BOTANY)

(wdu@uenmsar : 35) / (Marks : 35)
19fey - I/ SECTION - I

Simensg aamssErsEn ol waflsse, L. 8x1=8
Qar@&ssiulderer LTHO aewLsafléed Wsa b gnLenLw
e CoirbolsHESIS GMNELGLer e ulemamnyd Gsigg
T(PSEYLD.

Answer all the questions.
Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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@@ wrugedlan @, Ceumu L QJIq_G\JlﬁJéBdT/GIJIq.GULb -

(1) bLrugy Ggrenswn (<) DD GHET
(Q) wrugn umswID () WrL&E@Dlwe
Alternative forms of a gene are/is called :

(@)  Genome (b)  Alleles

()  Genotype (d) Genetic code

sapml (&) : Qautufleoe fafsgn CQUTLRS) #B4) wrppsHear eigpd
S HafSGL. |
smyestb (&1) : Qauliufleow HsfléEn Cumwps ﬁ]u_léserﬂGu_lrerL'-@g@5@ :
GG 2 drar cam Ly AenanmLIL|&aT 2 anL&s5LLBSDS).

() &Hm seun), srrewrd &l

(=) &om &, sryewd seum

(@) spm &fl, sryamd xsHE sflwmer eler&sLd

() &apm sTrewd Qram@Hn seun

Assertion (A) : Increase in temperature increases the rate of mutation.

Reason (R) : Rise in temperature breaks the hydrogen bonds between the
nucleotides.

(a) (A) is not correct (R) is correct

(b) (A) is correct but (R) is not correct

(c) (A) is correct (R) is correct explanation of (A)
(d) (A) and (R) are wrong

soupren Genarmen) GeRTL .

(<=1) Ti - Qemmeivtdli - 96Crrurseflud uBlCudlwéten
(<) Rermedli - Gemed

(@) pBR 322 - IomsLLew&ESUULL GeTmevL
() 2ar(hE@ETHMISW - eneurev

Find the mismatch pair.

(@) Ti-plasmid - Agrobacterium tumefaciens

(b) Plasmid - E.Coli

() pBR 322 - Reconstructed plasmid

(d) Transfection - Virus
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sreuy Sl& auatiGed HLiL@EgID smaflurs LuaLRSsILHMS -

(<=1) H&ECamqals il (<) GaruralLav GGarrenr(
(&) EDTA GIR=T:1un

Solidifying agent used in plant tissue culture is :

(@) Nicotinic acid (b) Cobaltous chloride

(c) EDTA (d) Agar

Qrummbél erarg :

(<=1) 1oL (& ehramt] (<) SHETTLE®L LG

(@) urd gL Oamani (7)) W U (Harent]

Orobanche is a :

(a) Saprophyte (b) Autotroph

(c) Partial parasite (d) Total parasite 3

CuaTLGHled 2 6cier pppedlan 2ierey Hlenawrag) eTETLIg)
(1) Qeuiu Guissefiiedla eLpETDITLD a8

(<=p,) Qi @uissefwailen @reimmb a4

(@) Qauil @uéseilwaian (pse a4
(7) G -pusdpe

The quantity of energy present in the univers
(a) Third law of Thermodynamics

(b) Second law of Thermodynamics .

(c) First law of Thermodynamics
(d) Community productivity

e is constant. It is stated in :

‘Ligenlo L8 eramn Qemdene o haurdslue :

(1) eflebadllwitd S. & (<) Dr. B.P. Limed

(@) N.E. Gumieoné (F) M.S. seumlprSen
The term Green Revolution was coined by : '

(a) William S. Gaud ‘ (b) Dr. B.P. Pal

(c) N.E. Borlang (d) M.S. Swaminathan
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10.

11.

12,

13.

14,

greuy LT QumsssHen L LHMID gLl P :

(@) fpsiu@sssd () Combas0Es |

(8) selulanorsed () ?;@ej,] mnﬁjmﬂﬁuﬂ]r’r QUmssH
The oldest and basic method of plant bréeding is :

(a) Introduction g ‘_ ~ (b) Selection |

(c) Hybridization (d) Mutation Breeding

191fley - II/ SECTION - II

Spsaramid elamsseEndr ereneuGuenid HreTeElenis e oL wefssayb.  4x2=8

Answer any four questions.

< e Cabl L &5 sreurddlen (psed Qe LLID AU hHE LITELD GD&E&H6]LD.

Draw and mark the parts of first cell of male gametophyte.

QerGermyr 64 - Smi @Oy Guém;as.

Write short notes on Sonara 64.

2 L 6) &H(HSSHET CTEMTEd GTGUGHT ?

What are embryoids ?

58HCETHSD Grempmed erépa ?
What is Leaching ?

souber eSflwb - euarUMIESELD.

Define Heterosis.

@UQFWIEMLb I_.Jrré;[ﬁrﬂu_lrfGU)G’quDG&MGMﬂG.D (@@LD GL.IITQI GTGoTEuT rlf;]GSLLQLD ?

What will happen when Rhizobium bacteria-is applied to the soil ?
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fley - III / SECTION - III
& L) . . . . . .
aﬁﬁ?&&"@{lm @9557'”55561*160 TGCHeID epetm) cilenméaenée eflen wefldseyLb.
o erewt 19 -8 sLL_muons; eflenL_waflssayib. 3x3=9
Ar}swer any three of the following questions. Q.No. 19 is Compulsory.

15. u@a@@mwuﬂm BeoL(papl Lweatur@sar Cs@ib (perm eTps)s.
Write any three practical applications of polyembryony.
16. P 2n=4x=28 X 2n=2x=14

G
(A) CsLlig e ﬁ\mmmm TP
(B) sreursdlen QUWIT 6r(GIs.

P 2n=4x=28 X 2n=2x=14

G

(A) Write gametic condition.

!

2n=3x=21
l .

(B) Write the name of the plant.

17. Qewpens efengser ereuaury 2 puSSH Qelwtiu@Hemg ?
How are artificial seeds produced ?

- 18, wriydbeuafludier LwWeTEET ET(HFIS.
Write the uses of silvopasture system.

19 sy e’ L smpseldmpal STiYL LS spsmar CapuBEsis.

Differentiate Autotrophic components from Heterotrophic components.
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SD&HETEnID oaTésEnéE el wiafssaL. " 2x5=10

Answer the following questions.

20. (1) wruamissERsSaL Cu Hewb QoLédsume o gryaTssiL et
efleuf&sHayLd.
S|6V608)
(<) 2wl Qgmdled L velwellear gHg LwemUT(HGMmET 6T(LpSIs.
(a) Explain Intergenic Interaction with an example.
OR

(b) List out any five applications of Biotechnology.

21. (=) aumpeusn@ Hir s (PSEWLD. STTED &Mis. eUDERTL ELENSHE eTrhmeuTm)
STEUTRIGET TelaUTD SRIGMET SHUMSEE CaTarderpear ?  (BTen
&&GUEMLOLILIGET). '

&wéﬂ
(<) @) &0 priger wrble wrsdar greureiuiler Guwfeanear erps)s.
(i) <per WpUGLb wrg ?
(i) SIS LILETSET (LPETDIEHET 6T(LHSIS.

(a) Water is essential for life. State the reason. Write any four features for plants
which enable them to survive in water scarcity environment.

OR
(b) (i) Write the botanical name of State Tree of Tamil Nadu.
(i) From where it is originated ?

(iii) Write its three uses.
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LS - I (2_udf-elevriflwsd) / PART - IT (BIO-ZOOLOGY)
(bHuCueser : 35) / (Marks : 35)
L9lfley - I / SECTION - I

GOy : () Smeisg lamssEnsEn el walssaib. 8x1=8

(i) Qasr@&ssiiul_(ferer wTHH eNdLseald WsaD ehLeLW
AenLemws CoibesRs55 GHUILGLar allamLuilman Cargg)
GT(LPSLD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

1. Queamsaie srenriL(b dvdered sTUS QsHEG GUUTES
(=) yparseier LoCUTLfgre sriind
(<) parsatien Caerlui syl |
(@) pemsaier UGrmavGLL &
(F) par@GH wenener &Fu
The Skene’s glands of female are homologous to :
(a) Bulbourethral glands of the male
(b) Cowper’s gland of male .
(c) Prostate gland of male
(d) Glans penis of male

2. e Grmser Gevameyls Lrssslen Ceuame
(1) Abgissamer Ceoualggen@nge
(<) QUG TCmalfev ClFwed
() QenadlGen 2 pusHews srmHSD
() FSH Qeuafleumeuans gen Cslige
: The function of androgen binding protein is :
(a) Ejaculation of sperms -
(b)  Process of a spermiogenesis
() Stimulates the synthesis of inhibin
(d) Inhibiting the release of FSH
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3.  Speumeuaneupmiar ammiGlomer smésmL wridamrsefar Gewdser Lpmlw

SEUDTET FaDMl 6T ?

(=1) efibgl Csdarsssms smL Qeiize

(<) Sar_Gsd NPubdsme sl Qeiisd

(8) smuern eumi Cerenuler serano wIHNSSTED MGG BEMWILD
urens wpmibd edlbg Ceew pareuang LaaiamiLbhssdlams)

(/) smLleu 2 CarampliLlasdd ghuBb wrhpb smluSeinE erglmer
Gy gHubsgEans.

Select the incorrect action of hormonal contraceptive pills from the following :

(a) Inhibition of spermiogenesis

(b) Inhibition of ovulation

() Changes in cervical mucus impairing its ability to allow passage and transport of

sperms
(d) Alteration in uterine endometrium to make it unsuitable for implantation

4. gar  — 5 MRNA > Aprd

A
GuCa o e LL&ESSIHeT0 A, B opmid C pdluieiperp SEHTLMS.
(<) A - LgQuESs®, B - Qurfduwissed, C - @iyl gd
(<) A - Qumheuwigge, B - Lig QupSse, C- QriigliLien, Se
(@) A - @riglumLge, B - QumAQuuTsse, C - LigtlwBESD
(F) A - @riglien g, B - L Qu@Sse®, C - GomAbuwirgge

Find out A, B ahd C in the above pictorial representation.
() A - Transcription, B - Translation, C - Replication
(b) A - Translation, B - Transcription, C - Replication
(c) A - Replication, B - Translation, C - Transcription
(d) ' A - Replication, B - Transcription, C - Translation
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5. smpop 5@ CsAiiurefd 2 HuSH CFiwu@D euryéser :
(1) B5Caer, <us8lmen wpmibd evaml Fmen s
(<) el e saU), B5Gsa whmLb Fouir @ 2Emsh
(&) emanlrgen goarui(, enpliramer LHMID BEESET ‘
(rr) B55Csen, enamL remen acebemu@ LopmILD &L ‘m; & F(H
The gases produced in anaerobic sludge digesters are : |
(@) Methane, oxygen and hydrogen sﬁlphi_de
(b) Hydrogen sulphide, methane and sulphur dioxidé |
(c) Hydrogen sulphide, nitrogen and methane
(d) -Methane, hydrogen sulphide and carbon dioxide

6. Qe a{,@\&.aﬁd}, olg QFeser DL HGLO @@@mggﬂmﬁ Q& reiTL_enew G'I'GUﬂGO
ergli&mre gavapamsafie) ergl elaerarns QjenLou|b ?

(1) eTéiETe Smapen elabGSET D@L (HSSETenLDL|EnL LTINS E\(BH&GID.

(<) rdlisme  soawop dohEsda CpriussrEEGsed S®LWUTS
efeniGaerTas SrarliLbD. F, ‘

(@) e enigsmer 2 HUSS Claw Guierg.

() erdlisne geaipem 6ilemn Gsaer GDPDHS @Jrrgg;r;rrLaseiT Ol TERTL_6nEU WIS
BBEGLD. Ry g

‘If the udder cells of sheep are the only totipotent cells means, what will be the
consequence of future generations ?

(a) Future generations may be sterile animals

(b)  Future generation animals may be disease free

(c). Males can not be produced - GREEN GARDEN MATRIC. HR. SEC. SCHOOL
. . Perundurai R.S.
(d) Future generation animals will be short lived PH: 9486379461, 8344933377
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10.

11.

flo dlomigsdr CaraLssramsaid Qewedn sremiiL@eug. Qs sharan
2 SMTeRTLD ?

(=) 2L Siewiy srifs SEHEUGLDLIL|GET
() BLéeng sThs sEuUAMLLILEET

(8) 2L pQswedud sriss sseuawliyse
() 2emeflwd &ribs sseumLILEET

Some animals become inactive during summer. It is an éxample for :
(@) Structural adaptation

(b) Behavioural adaptation
(c) Physiological adaptation
(d) Psychological adaptation

@mﬂm®5@$£mLGu Guriig srrenrors ghubhieugl

(<) 2-ulifler evmay (<) Hlef WOIHOD

(@) QFMHSTe GUTDSmS (rF) Sl uifl eumpsens
Competition between species leads to :

(a) Extinction | (b) Mutation

(c) Amensalism (d) Symbiosis

\fey - 11/ SECTION - II
gCaeId HIevE AamssEnse eflawafl&se,ib. 4x2=8

Answer any four of the following questions.

Loeaﬂg,”eﬁlﬁgj Q&Fedl e é{mmumuu LILLD euenfhg) LITSBIGENETS G&DISSaLD.

Draw and label the parts of human sperm cell.

Lig GBS Gev c;re"armrreb~ eTEaTe ?

Define - Transcription.

TS kg@ﬂqgse‘n GTEITLIG GTGIET ? 6( 6T H58ISSTL(H S([HS.
What are vestigial organs ? Give an example.
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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12. &Sy : . ]
Q"@“““JGW'-'“LG) Qurmer 2 pusHGd LwersmD 5Tean ud fsaf e

N i :
ame some microbes used in the production of household food products.

- 13. @il senenio - QUGDITIIM& &6 L.
' Define - Endemism.

» 14. Qeerenaruler L udsaier sramsd Gonbg, Yprésaflar ereamemtlsms
<igl&M&dng). )8l ereucuens aumfl @l ? g eUmrUnI&ESa .

In many parts of Chennai, number of dove increases rather than crow. What type of
habitat loss it is ? Define.

L9lfley - III / SECTION - III |

7\,‘6;(3,6_5@@ eperml ellanmésEpsE elamwallsseab. Seumbled aSlerm 6T eHT

19 -&@ sl Lmunns efleL wallésea]b. 3x3=9
e ,Answer any three of the following questions. Q.No. 19 is Compulsory.

15 @b orHlw ST ererLgl erene ? Bsen efmaredlenar eT(LHEIS.

i 0 | What is Ectopic Pregnancy ? Write its consequence.

16, euUTL&S SMLUELD GTEIMTE GTesiesr ?

o . What is meant by Surrogacy ?
¥
i

oomomiEden “AUpILLL Ligser iy sLdsd Cariur®’ updl erpais.
9 Write the Lamark’s theory of Inheritance of acquired characters.

15, wpCsiEDs @@L_r‘r:,,@ugrre&r > HLGHEEG or.Cameraew 6l Spps o uiflend

eVl STIERID Sabis. : | |
Yeastis more suitable for production of recombinant interferons than E. Coli. Give reasons.
e

QM FLLEDS Al NECEET Y sram U@L SsssTraflaar wHmd

LD &S T et &ener UL ig el (H&.
List out intrinsic factors and extrinsic factors in population regulation.

19.

[ H®ULs / Turn over
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20.

21.

9lifley - IV / SECTION - IV

Spssrand edamésErsE olewealdseab. 2x5=10

Answer the following questions.

(=) LOEL ([ ADSDEET crampred araar ? 555 THSSSTLHLGT WS
Qarsde sramiiLBbD Lol () e esarfen umrrufw Leren L
edeuf&saLw.

S|6V60 )

(<) e wrHOD LHHIW %u'_lma;s'n (Lp@LD FLIEDIeHDHGELD, lg..6T6yT.6r-@NDGSLD
o dram QaTLiy pan@ Ufbg QarereriiLligBESDS. ©) & e M ev et
Bumulu®sgs. |

(a) What are Multiple Alleles ? Describe their inheritance in Human with example.

| OR

(b) Therelationship between genes and DNA are best understood by mutation studies.

]ustify' this statement.

(1) Crmu senL_ssanaratliLSEmen HpwuL JmsEn GCurs) UHnICHML
Gsranmrgl. Q&S heD AuruiuGssis. :
S|6V608)
rrigaer LI&EUHSSS Qaramiy HSHCHTD. Sieueuro)
WAemiser Bg ehu@HLD edleneTal&HeT wrened ?
cancer should not occur. Justify.

(<) prid B 25T

IorEFanLeUSETTe 2

(a) If immunological surveillance is effective,
OR

(b) We are polluting water resources. What will be the consequences of water

pollution on organisms ?

-00o0-
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